RS Aggarwal Solutions for Class 10 Maths Chapter 10 Exercise 10.3: A step-by-step
solution to the chapter 10 quadratic equations in the textbook RS Aggarwal class 10 has
been developed by the Physics Wallah academic team. The academic team of Physics
Wallah created NCERT Solutions, which are used to answer all of the exercise questions in
maths class 10.

The RS Aggarwal class 10 solution for chapter-10 Quadratic Equations Exercise-10C is
uploaded for reference only; do not copy the solution. Before going through the solution of
chapter-10 Quadratic Equations Exercise-10C, one must have a clear understanding of the
chapter-10 Quadratic Equations. Therefore, read the theory of Chapter 10 Quadratic
Equations, and then try to solve all numerical of exercise-10C.

RS Aggarwal Solutions for Class 10 Maths Chapter 10
Exercise 10.3 Overview

RS Aggarwal Solutions for Class 10 Maths Chapter 10 Exercise 10.3 on Quadratic
Equations offers a clear and systematic approach to solving problems related to quadratic
equations. This exercise typically focuses on solving equations using various methods such
as factoring, completing the square, and applying the quadratic formula.

Each solution is detailed step-by-step, making it easier for students to follow along and
understand the process. By working through these problems, students can enhance their
problem-solving skills, reinforce their understanding of quadratic equations, and build
confidence in their ability to tackle similar questions in exams.

What are Quadratic equations?

A polynomial equation of second degree, or one that has at least one squared term, is
referred to as a quadratic. Another name for it is quadratic equations. The quadratic equation
has the following generic form:

ax?+bx+c=0

where a, b, and c are numerical coefficients and x is an unknown variable. In this case, a # 0
since if it does, the equation will no longer be quadratic and will instead become linear, as in
the following cases:

bx+c=0

Quadratics Formula

The roots of an equation are found using the method for a quadratic equation. There will be
two answers to the equation as the degree of a quadratic is two. Assuming that the quadratic
equation is ax? + bx + ¢ = 0, the formula to determine its roots is as follows:



x = [-bxV(b%-4ac)]/2a

RS Aggarwal Solutions for Class 10 Maths Chapter 10
Exercise 10.3

Below we have provided RS Aggarwal Solutions for Class 10 Maths Chapter 10 Exercise
10.3 for the ease of the students —

Question

Find the discriminant of each of the following equations :
(D2x2-7x+6=0 (i) 3x*-2x+8=0

(iii) 2x%2 =5V2x+4 = 0 (iv) V3x?2 + 242x - 243 =0

(V) (x=D2x=1) =0 (vi) 1-x = 2x?

Solution

((12xF-Tx+6=0

The given gquadratic equation is in the form of
ax*+bx+c=0

Where, a=2b=-7c=6

Thus, discriminant D = b? - dac

=7° - 4x2x%6
=49 - 48
~D=1

() 3xi—2x+8B=0

Comparing with ax? + bx +c = 0, we get
a=3b=-2c=8

Thus, the discriminant D = b? - 4ac
=(=2)"-(4%x3x8)

=4 -945

A0 =-02

(i) 2x2- 5 2x+4=0
Wherea=2,b=-52,c=4
D=b?-4dac

=(=5.2)=-4x2x4

=50-32

~D =18



V) V3xZ+242x =243 =0
a=v3 b=2v2,c=-2v3

D = b? - dac

= (2V2)? - 4 x N3 x =243
=8+ 24

~D=32

(v x=-1(2x-1=0
2xf-x-2x+1=0
2x2-3x+1=0
Wherea=2,b=-3,c=1
D=b? - d4ac

= (=3)2 -4 x2x]
=9-8

~D=1

(vi) 1-x = 2x°

Given equation is written as
2x*+x=1=0
Wherea=2,b=1c=-1
D = b® - 4ac

=1 (4x2x=1)

=1+8

~D=9

Q. Find the roots of each of the following equations, if they exist, by applying the guadratic
formula:
x*=-4x-1=0



Solution

x2-d4x-1=0

a=1b=-4 c=-1

Wse the guadratic formula to find the solutions.
(-b +-(b? - 4ac)/2a

Substitute the values a=1, b=-4, and c=-linto the quadratic formula and solve
for x.

(4+(-4Y-4-(1--1)2-1
Simplify.

x=({d 16+ 4)/2

x =4 £20/2
x={d£25)/2
x=2(2+.5)/2

n=2%5

Question

Find the roots of each of the following equations, if they exist, by applying the
guadratic formula:

x2=-6x+4=0
Solution

X< —6x+4=0
d< = bh?-4ac
=36 -16 = 20
o =+245

x = =-b/2atd/2a
=6/2+2.5/2=3++5



Question

Find the roots of each of the following equations, if they exist, by applying the
guadratic formula:

2x*+x-4=0
Solution
2%+ x-4=0
2x2+x=4

Above Equation divide by 2 both side we get

X2+ x/2=2

Adding 1/4 both side we get

X2+ (2x)(1/4)+1/16 =2 +1/16
(x+1/4)2=2+1/16

(x+1/4) = +v33/4

or

X = *v33/4 - (1/4)

Question

Find the roots of each of the following equations, if they exist, by applying the
guadratic formula:
15x% -28 = x



Solution

¥°+bx+c=0 he gu dr ticequ tion
then
—bxyb%-4 ¢

- 2
in this question
15x2-28=x
152 —x—28=0
=15,b=-1,c=-28
then

_ —bh+y b -4 ¢

Z
o 1/ 1-4x15> 28
2x15
Y= 1+ 16881
30
. 1+41
30
5 3
Question

Find the roots of each of the following equations, if they exist, by applying the
quadratic formula:



Solution

x“+hx+c=01s gu dr tic equ tion

thern
—h+/b?—4 ¢
x =
2

in this question
VX +10x-8¢3 =0

=3,b=10,0=-8/3

then

_ —bxyb’-4 ¢

2
104/ 100-4% 3% -843
- 2x4/3
_ ~10v4
23
_ —10zx2
23
X= —ior —i,_
v 3 v 3
Question

Find the roots of each of the following eqguations, if they exist, by applying the
quadratic formula:
2%2+643x-60=0



Solution

X2+ hx+c=01s qu dr tic equ tion
then
—b J_r-afb_E—d_ c
2
in this guestion
2% +6,/3x—-60=0
=2.,b=63,c=-60

X:

then
—b+yb?-4 ¢
X:
2
y— —6v/3 /10842 ~60
2x2
Y= '6-\.‘."'3 i-\.‘."'588
4
g 6321963
-
-6 3 3
4= b 3;14‘, 3

x=2./3 or =53

Question

Find the roots of each of the following equations, if they exist, by applying the
guadratic formula:
32 =-2%x+2=0

Solution

3x2=-2x+2=0

a=3,b=-2,c=2

We know discriminant, D = b® - 4ac

=(=2)?-4x3x2

=4-24=-20

The discriminant is negative and so, there are no real roots far this equation.



Question

Find the roots of each of the following equations, if they exist, by applying the
guadratic formula:

1-L=3x%x+0,2

Solution

We have

(1{x)
- =3
(x=22(x)

w | =

1T
Pl

The common denominator is x(x-2)
. 1.{1-2}_ (1xx) -
X {n=2) (x=2Wx}

(x-2) PR
i{x=2) {(x=2Wx}

i=2=x -
w{x—2)
u=2=-x _
®.{x-2}

—_

—=2 = 3x(x~2)

—=2=3x*-6x
~-3x{-Bx+2=0



Using the quadratic formula and solving for x we have
~b + BT - 4ac
2a
6+ 467 - 4(3)(2)
2(3)
_6436-24
6

—_—

Question

Find the roots of each of the following equations, if they exist, by applying the
guadratic formula:
I6x2-12ax+(@@*-b3) =0



Solution

finding discriminant
D=h*—4ac

D =12a)-4(36)(a’-b?)
D =144a° — 1440+ 144h*
D =144h?

finding roots

y— 0D =b='D

2a 2a
_ 12a++/ 144b%  12a—+ 144p°
o 72 72
o 12a+12b 12a-12b

72 72
y = athb a-h

B ' B
Question

Find the roots of each of the following equations, if they exist, by applying the
quadratic formula:
12abx? - (9a° - 8b?)x-6ab =0, wherea<0and b£0



Solution

Using quadratic formula
12abx® - (9a? -8bY)x-6ab =0

A = 12ab
B =-(9a‘-8b?%)
C = -6ab

~Discriminant, D = B> - 4AC
= (=(9a‘ - 8b?))? - 4 x (12ab) x (-6ab)
= 8la? + 144a°’b’ + 64b*
=(9a+8b*)*=0

As D = 0 therefore, the roots are real.

_ =-B+D
x -
24

~(-(2af-Bb))t(Fai+BbI

2{12ak)
(9a‘-8b%12(9a°+8b%)
2dab
(Ga‘=8b<)+({9a‘+8b) (9a=-8h<)=(9a<+8b)
— Zam 9" — mam
9a4—abz+932+8bim 9af-gpi-952-8bt
24ab 2aab
_ 12a3¢ -16?
24ab 24ab
3a -2

T or a

Question

Solve each of the following quadratic equations:
A2 + 4dbx - (a2 -b?) =0



Solution

X +bx+c=0/s qu dr ticequ tion
then
||'F'—
= —bxy b -4 ¢
2
it this question
ax°+4hx—( 2=h%)1=0

thern
o T4b +4/ 1602 —4x4x - 2=p?)
2= 4
—4p £+/ 1602+ 16( 2--b?)
x’:
8
I +4/16 2
8
—4h+4
X=— o
b
- +h) —-b
r=- el
2 2

Benefits of RS Aggarwal Solutions for Class 10 Maths
Chapter 10 Exercise 10.3

The RS Aggarwal Solutions for Class 10 Maths Chapter 10, Exercise 10.3, which deals with
Quadratic Equations, offers several benefits for students. Here’s a detailed look at these
advantages:

Comprehensive Understanding:

Detailed Solutions: The solutions provide step-by-step explanations, helping students
understand the methodology behind solving quadratic equations. This can be particularly
useful for grasping complex concepts.

Varied Problems: The exercise covers a range of problems that help students tackle
different types of quadratic equations, enhancing their problem-solving skills.

Exam Preparation:

Practice and Repetition: Regular practice with these solutions can improve proficiency and
speed in solving quadratic equations, which is crucial for exams.



Clarification of Doubts: By working through the solutions, students can clear up any
misunderstandings about the topic and better prepare for questions in exams.

Concept Reinforcement:

Application of Concepts: The solutions reinforce key concepts such as factoring,
completing the square, and using the quadratic formula, which are essential for mastering
quadratic equations.

Conceptual Links: The exercise often connects various concepts, helping students see how
quadratic equations fit into broader mathematical contexts.

Skill Development:

Analytical Skills: Solving these problems enhances analytical thinking and problem-solving
abilities.

Error Identification: By reviewing the solutions, students can learn to identify and correct
mistakes in their work, leading to a deeper understanding of the subject.

Confidence Building:

Improved Performance: Mastery of the exercise can boost a student's confidence in their
ability to handle quadratic equations, leading to improved performance in tests and exams.

Positive Feedback Loop: Successfully solving problems and seeing detailed solutions can
motivate students to continue practicing and improving their skills.

Resourcefulness:

Exam Strategy: The structured solutions provide insight into efficient problem-solving
techniques that can be applied during exams.

Reference Material: The solutions serve as a useful reference for revision and self-study,
ensuring that students have access to reliable methods and explanations.



